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Abstract In a GMPLS (Generalized MPLS) network employing a WDM technology, a path setup method based on a
data—driven approach is effective against the changing of traffic patterns. It is because the path is dynamically set up betwee
source and destination nodes when the burst transfer request arises at the source node. However, the influence of the path se
time, including the propagation delay between source and destination nodes and the processing delay at the intermediate node
becomes a key issue in order to achieve a high throughput. In this paper, we propose an architecture, which eliminates electror
ical processing at intermediate nodes by utilizing the optical code processing technology. Through computer simulations, we
demonstrate the effects of introducing our architecture.
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